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Two wave pulses are travelling towards each other as shown.
When they meet, they will:

A) Bounce off each other and reflect backwards

B) Destroy each other, leaving a few random ripples going in
either direction

C) Pass right through each other



——— <“—

o -
| T T | J B

0 1 2 3 4 9 6

Two wave pulses are travelling towards each other as shown.
When they meet, they will:

A) Bounce off each other and reflect backwards

B) Destroy each other, leaving a few random ripples going in
either direction

@Pass right through each o@




THE ﬂleC\PLE oF SuPERPoSITION

When two or more waves overlap, the net displacement
D(x,t) is equal to the sum of the displacements we
would have if each wave were present alone.
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Combined wave: D (x1)= D, (xit)+D, x, 1)
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Two wave pulses, each traveling 1m/s, approach each other on a string.
Sketch the displacement of the string after 1 second has passed.
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STANDING WAVES DA = A cos(ke): cos(cot)
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You are the Royal Engineer for the Kingdom of Grrrrrx (pronounced as written). Each year in
the kingdom, on the last day of summer, a new Knightship of Grrrrrx is awarded to the winner
of the Royal Singing-and-Hopping Race, in which participants (18 years of age and older) must
hop and sing through three full laps of the castle perimeter, adhering to the strict regulations
of the Royal Singing-and-Hopping Commission.

The race begins when the King of Grrrrrx plucks a single note on the Royal Plucking Instrument,
which consists of a single 1Imm thick platinum wire stretched between two points on a solid

gold frame, as shown in the picture. To achieve the proper note, the wire must be at a tension

of 800N. On the morning of the race, you notice the temperature is a chilly 5 degrees Celcius . . -



